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General instructions: Read the following instructions very carefully and strictly follow
them:

AT fAden g e fefafaa Bt @ aga araueh & e ik s wedh
q 9Telel HITT:

1. This Question paper contains - five sections A, B, C, D and E. Each section is
compulsory. However, there are internal choices in some questions.

SHMA I H - 9/d WUS &, @, 7, T aUT § §| Yodoh Ws AH(ary § auiy, o weat &
3aie fawed 2
2. Section A has 10 MCQ’s , 4 one word anwer, 4 fill in the blanks/True-false and 02
Assertion-Reason based questions of 1 mark each.
w*:ﬁrmag'amq%ﬂ, 4 U s F 3, 4 Nard T A qfd HUHE-ITed
3R 02 FAFYA-FROT IMRT T2 1 3F & g
3. Section B has 5 Very Short Answer (VSA)-type questions of 2 marks each.
gus @ #H 5 3fd oY 3T (VSA) YR & 99 § od & Tcdeh 2 3 &7 g
4. Section C has 6 Short Answer (SA)-type questions of 3 marks each.
gus T H 6 7Y 3T (SA) ThR & 9 g, Tedsh & 3 3HF &
5. Section D has 4 Long Answer (LA)-type questions of 5 marks each.
s A 4 &Y 3907 (LA) TR & 9o ¢ fodd O uds 5 3iF F7 2|
6. Section E has 3 source based/case based question 4 marks each with sub parts.
WS T A 3U-HFEN & Y 3 9 IuiRd/dd 3id 9T § Fdd & 9AF 4 3F F1 g
7. There is no overall choice. However, an internal choice has been provided in 2 questions
in Section B, 2 questions in Section C, 2 questions in Section D.
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9ed-99 H GHY [dheq gl &A1 11 §| ISIM, WUS @ & 2 Y&l H, @Us I & 2 Y&l H,
Q@Us g & 2 Y& H JdR$ Ghed &7 graer f&am aram g |

7. Use of calculator is not permitted.

Fegae F1 39A T ¥ |

SECTION A
YUs &h

Objective Questions each question carries 1 mark
TEJfASS W B, foas udw Wt 1 3F F1 ¢
1. If X={a,b,c,d} and Y={f,b,d,g} then X-Y is

A.{ab,c,dfb,dg} B.{b} C. {ac,d} D. {f,d,g}

afe X={a,b,c,d} 3R Y={fb,d,g} a X-Y &

A. {a,b,c,d,fb,d,g} B.{b} C. {a,c,d} D. {f,d,g}
2. Let F1 be the set of parallelograms, F2 the set of rectangles, F3 the set of

rhombus, F4 the set of squares and F5 the set of trapeziums in a plane then F1 may
be equal to

A F2NF3 B.F3NF4 C.F2U F5 D.F2ZUF3UF4UF1

F1 AR Telsil &1 @Head g1, F2 3l & FFead g1, F3 Faadelst &l
FHTAT @1, F4 qaif & @Fead g1 3R F5 AT H GHeF6l T Foead g of F1
XS B FehlT &

A F2NF3 B.F3NF4 C.F2U F5 D.F2ZUF3UF4UF1

3. The domain of the function {(1, 2), (3, 4), (2, 6)}
A. {1,3, 2} B. {1, 3,5} C.{3,5,6} D.{1,5, 6}

Heled T 91 {(1, 2), (3, 4), (2, 6)}




A.{1,3,2} B.{1, 3,5} C.{3,56} D.{l,5,6}

4. 60 ° in radian measure is
A. 60r B. #n/3 C. 3m D. none of these

60° T YT ATT giaT &
A. 60x B. /3 C. 3= D. 58 & &S &1
5, (-5i)(%i)=
A. % B. 5/8 C. -5/8 D. none of these
(-5i)(5 )=
A.-% B.5/8 C.-5/8 D. . =48 ¥ S A&

6. The marks obtained by a student of class XI in first and second terminal examination
are 62 and 48, respectively. The minimum marks he should get in the annual
examination to have an average of at least 60 marks are

A. 50 B.60 C. 80 D. 70

TAREA! &l & Ueh BIF gaRT Fgell 3R g@r effeer qqat # wred 3 HA: 62
AR 48 g ar¥er 9laT # 38 wgAaH 60 3l #1 3ad 9ed e & v wgeaaa#q
3% UTed el A1igv

A. 50 B.60 C. 80 D. 70
7. 181 + L =X the value of x is
8! 9! 10!
A 100 B. 90 C. 9 D. 10
A o= AXFTAE
A. 100 B. 90 C. 9 D. 10

8. The coefficients nCr occurring in the binomial theorem are known as
A. Elements B. Powers C. Binomial coefficients D. None of these

cfaue gAY A 3 Tl 0Tk nCr & & H ST Sl &

A. dca B. urd C. gfaug a[umieh D. 318 & Hig wgT



9. The value of x for which the numbers -2/7, x, -7/2 are in G.P.

A.52 B. #1 C.-5/2 D.+3/2

X & dg AT forges T & -2/7, X, -7/2 GP.A §
A.5/2 B. 1 C.-5/2 D.%3/2

10. In a G.P., the third term is 24 and the 6th term is 192 then the 10th term will be

A. 192 B. 3072 C. 6075 D. 24
Teh GP A, 197 ug 24 § 31X ©or ue 192 §, ar 10ar uc gem :

A. 192 B. 3072 C. 6075 D. 24

11. For two real numbers a, b the GM=.....?

aradfas et F fova, b GM=..... §?
12. The eccentricity of the ellipse 16 x2+ y2=16 is?
ST & Sceheardl 16 x>+ y>=16?

tanx
13. Lim x—0 " =?

tan x

AT x—0

=9
X

14. Find the derivative of sinx .

SiNX T 31dehelal AT hITSTT|

15. Mean deviation about the median for 36, 72, 46, 42, 60, 45, 53, 46, 51, 49 is

36, 72, 46, 42, 60, 45, 53, 46, 51, 49 & fau ACIHT & AT AT fGga g
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16. One card is drawn from a well shuffled Deck of 52 cards if each outcome is equally
likely then the probability that the card will be a black is?

52 AT T Teh TS g T Wl IS 3T A Teh T ATl SITdT § TS Tedeh TRUTH
AT &Y af U & Flet 8l T AT 872

17. Mutually exclusive events are those in which occurrence of any one of them
excludes thew occurrence of the other. T/F

UREIRE & UGSt gead d gl & ot 398 @ fhely v &1 afeqd g gl &
gfed gt &l I X &l & TeI/3HAT

18. A die is thrown find the probability that a number more than 6 will appear.

Ueh 9TH I Hepl ST §, 6 T F3r T&AT 3Tl FI AAhdl ATd hITaT

19. Assertion (A): If A={1, 2, 3}, B={2, 4}, then the number of relation from Ato B is
equal to 64

Reason (R): the total number of relation from set A to set B is equal to {2415}

A. Both A and B are true and R is correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A
C. Ais false but R is true

D. Ais true but R is false

FfAFYT (A)IfG A = {1,23}, B ={2,4}, AT A & B & HIY I T&IT 64 & e g
a% (R): AT A ¥ U2 B & Y T Fof F&AT {20} & e §
A. A 3R B g I g 3R R, A &7 @gr arear gl
B. A 3R R gt T & ofhd R, A I TEI carEam igi &
C.A3NTIETIMFTRTT &
D. A T § e R 318 &

20. Assertion (A): Domain and range of a relation R= {(X, x+5)} defined on the set
A ={0, 1, 2, 3} are respectively {0,1,2,3} and {5,6, 7, 8}
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Reason(R): The set of all first elements of the ordered pairs in a relation R from
A to B is called domain and the set of all second elements of the

ordered pairs in a relation R from A to B is called range of the
relation.

A. Both A and B are true and R is correct explanation of A.

B. Both A and R are true but R is not the correct explanation of A
C. Ais false but R is true

D. Ais true but R is false

20. IfRFYT (A): Th HIY &H Uled IR IR R = {(x, x+5)} a< A ={0, 1, 2, 3}
R gRATT shaer: {0,1,2,3} 33X { 5 ,6, 7, 8}
a® (R): A ¥ B & HeU R H ST SIS & @ Ygel dcal & AT HY
Jlec el Sicl & 3 A & B & HaY # IERIT S & 7l gl
dcal & d¢ & A ¥ B fI IR Fgl ST &

A. A 3R B g 8T § 3R R, A &7 I8r <ureEar gl
B. A 3R R il @gY § ofhad R, A & TgT <I1&am TgT &
C.A3aT g ofed RET §
D. A §cT § Wed R 38T §
SECTION -B

gus g
This section comprises very short answer (VSA) type questions of 2 marks each.

30 GUs 7 e g 3787 (VSA) TR F WA 8, e T dw F 2 37+ 3 |
21. Let U= (1, 2, 3,4, 5,6), A=(2,3)and B (3, 4, 5). Find A' n B, AUB.

ATU=(1,2,3,4,5,6), A=(2,3)3iRB (3,4,51 A' N B, AUB A FIfaiw

22. Find the multiplicative inverse of 2-3i

2-3i T I[UTTcHS FTAAH AT HIfsTw
OR



Simplify (1-i)*

W X (1-i)*

23. Solve the inequality for real x
3X-7>5x-1

arEdfas x & T g &Y
3x-7>5x-1

24. The fourth term of a G.P. is square of its second and the first term is -3.
Determine its 7th term.

G.P. &l T 9 $8E gAY UG F1 I § 3 9gell ug -3 §ISHHI 7d7 Ug A HfSC]
25. Find the eccentricity of the ellipse 4x2+9y2=36
OR
Find the eccentricity of the hyperbola 16x2-9y2=576

&rega 4x2+9y?=36 &I fAhegdl AT &Y
372qar
ITARTTT 16x2-9y2=576 I Scohegdl ATd

SECTION-C

gus J
This section comprises short answer (SA) type questions of 3 marks each.

39 GUS # Y 37897 (SA) TR F N 3, Tl T+ F 33+ ¢ |
26. If U={1,2,3,4,5,6,7,8,9}, A={2,4,6,8} and B={2,3,5,7}. Verify (AUB)=A'n B’

afe U={1,2,3,4,5,6,7,8,9}, A={2,4,6,8} and B={2,3,5,7} Rigy HIfST (AUB)=A'n B'

27. Let A={1, 2, 3,4, 5, 6}. Arelation R is defined from A to A and R={(1,2), (2,3),
(3,4), (5,6)}. find domain, co domain and range of R.



AT A ={1,2,3,4,5 6} T G&T R H A T A d& gRea fFar = ¢ 3ik
R= {(1,2), (2,3), (3,4), (5,6)} R & 9Ied, Hgyid, IR @i

28. Prove that 2™>n for all positive integers n.

gy HIfST & 2m>n Hef HpRTcAS quiieh n & forT|

OR
Prove using the principle of mathematical induction
12423434 oo n(n+1)= 2rD0+2)

3

ITTOTT 3TRTHST o AT T SN ileh NGH ShifaTT

12423434, n(n+1)= w

29.Find the distance between the points (2,-1,3) and (-2,1,3).

figait (2,-1,3) 3R (-2,1,3) & &g & gQ wa ATl

30. Find the derivative of 1/x
1/x 3T 31dehelol ATd ShIToIT|

OR
compute the derivative of y=sin’x.

y=sin?x &I 37deholol ATd HIAT|

31. 3 coins are tossed once. Find the probability of getting 3 heads, no head, and no
tail.

3 {FF T TR 30T 0 g1 3 Oa, a5 ”Aa J8r 3R I ge 78 ured g v
qiffiehdT AT hifew
SECTION -D

gus g

This section comprises long answer (LA) type questions of 5 marks each.

sHEUS H &Y 30T (LA) ThR F T &, ST T dHw 5 7AF ¢ |
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32. Prove sin2x +2sin 4x +sin 6x=4c0s? X sin4x
feer &Y sin2x +2sin 4x +sin 6x=4c0s* X sindx

33. Expand (2x-3)°

cTSieh T JOR ford (2x-3)°
34. Find the points on the x-axis whose distances from the line g + %=1 are 4 units.

X-3767 W foig ot foitehl gt 3@T x/3 + y/4=1 gl 4 3hIS &

OR
Find the coordinates of foot of the perpendicular from the point (-1, 3) to the line
3x-4y-16=0.

fig (-1, 3) & T@T 3x-4y-16=0 T STel T FSUTG & TAEAT Tiot

35. Find the mean and the standard deviation

Diameters | 33-36 | 37-40 | 41-44 | 45-48 | 49-52
No. Of 15 17 21 22 25
circles

arey 3R A e arg fifae

=TT 33-36 | 37-40 | 41-44 | 45-48 | 49-52
T 15 |17 21 22 25
I T qET

SECTION -E
gus §

This section comprises case study questions of 4 marks each.

SHEUSH $H JMURANRAE, AT AR F 4315 ¢ |

Read the text carefully and answer the questions:



36. A javelin thrower throws the javelin. The javelin follows a particular path. The
equation for the path followed by the javelin y?>=8x

e ¥ U¢ 3R & 39 S

36. Ueh Tl ool ATCll T Phehcll T T Teh TAAY T T 3TEOT HIl &1 e
CaRT 3TERA 9Y & v FHARIor y?=8x

1. Name the path followed by the javelin. 1
2. Draw the curve for the path followed and mark focus with coordinates. 2
3. Find the length of the latus rectum for the given curve. 1
1. 38 9Y HT ATH SAST TTEHT Hel 3EROT HIT & | 1
2. 3EROT fRT T 9¥ & fAT g% qaw AR Adeiet & @ we RAEET w2
3. U 37 g% & AU A1ff e sfar it des AT Hifav| 1

37. A boy is standing at 50 m distance 10 m tall building. The angle of elevation from
his eyes to the top of the building is 30° and the angle of elevation from his eyes to the
flag on the top of the building is 45°

T dsH 10 HleX 3T #aT § 50 Hliex & g W @31 1 3qH Hi@r & #T & /@
HT IooTdeT AT 30° § 3R 3T 3@ T Had & @ W TUT €9 T IoaTdeT HIoT
45° §|
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1. Find Cos (X+Y) 2
2. What will be the value for Sin(X-Y)? 2

1.Cos (X+Y) J1d Hifaw
2. Sin(X-Y) T AT FAT gHEM? 2

38. The drama teacher in a school wants to select 5 members from a group of 4 girls and
7 boys. These five members will act in a play to be organized on the occasion of 15th
August i.e. Independence Day celebration.

Teh Tohol H ATcT AT 4 osfhdl 3R 7 sl & GHg A 5 AGET &l T HTAT A6l
gl T grdal Je&T 15 3IEd Al FadAdT Gad TARIE & FHich 9 AITId glel dlel oAlceh
A 3T .

1. In how many ways can a team of 5 members be selected if the team has
1) no girl 1
11



I1) 1 boy and 4 girls 1
[11) 4 boys and 1 girl
V) 3 girls and 2 boys 1

|

1. 5 TSTAT HTI T EIH & I Tohdel YhR A ThaT ST Tohdl ¢ If EeT &l

l) I ogehT @I 1
Il) Tk oISl 3R THh olgehr 1
1) S TSHT Al 1

IV) 3 wsfrar 3R 2 =% 1
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